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Two forces of (20N) and (15N) acting on a (5kg) body as shown in the figure below.
The body accelerates at a rate of

1SN ; 20N
«— Sk |

a- 0.5m/s? b- 3 mls?

c-  7.5m/s? d-  1m/s?

Sound with frequency above audible range of hearing is known to be:
a-  Ultraviolet b- Ultrasound

c- Infrasound d- Infrared

The main function of the slippery mucus membrane covering internal organs
in the body is:

a-  Increasing the arthritis b- Increasing friction
c-  Helping walking d- Minimizing friction
The EEG is used in diagnosis of:

a-  Bone friction b- Muscular weakness
c-  Brain tumour d-  Arrhythmias

The system of units that uses meter for measuring length and kilogram for mass is
known as the:

a-  British system b-  American system
c-  English system d-  Slsystem
Geiger—Mueller (GM ) is a device that detects:

a-  Sound intensity b- Radiation

c-  Light intensity d-  Blood pressure

Under standard conditions, the percentage of heat lost by an average person in

the form of radiation is approximately:

a- 55% b- 7%

c-  25% d-  14%

Recording the electrical potentials between two points located at various positions
on the surface of the body is:

a- EMG b- ECG

c- EEG d- ERG

An ideal gas at 27C° and constant pressure was heated until its volume is doubled,
its temperature will be:

a- 54C° b-  600K°

c- 125C° d- 27K°
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10. Latency period in the medical context is defined as the:
a-  Distance divided by the difference in time
b-  Time between stimulation and the beginning of the response
c-  Velocity of the action potential divided by the time

d-  Time required for an action potential to travel the distance between two points
in the muscles
11. Muscles are primarily controlled by means of:
a-  Mechanical action b-  Chemical reactions
c-  Friction forces d-  Electrical action
12. The apparent weight for a body immersed in a fluid is equal:
a-  The weight of the fluid displaced by the body
b-  The difference between the actual weight and the buoyed force
c-  The actual weight
d-  The buoyed force
13. X-rays used to examine bones for any fracture because:
a-  They are absorbed by all matter
b-  All substances irrespective of their densities are equally transparent to X-rays
c-  X-rays are absorbed more by flesh than by bones
d-  X-rays are absorbed more by bones than by flesh
14. Curie is a unit for measuring:
a-  Radioactivity b-  Magnetic field
c- Temperature d- Light
15. One of the disadvantages of using UV light in medicine is to:
a-  Kill germs
b-  Produce sunburns
c-  Sterilize medical instruments
d-  Convert some of the molecular products in the skin into vitamin D
16. When inhaling cold air, the body:
a-  Warms air to the body temperature and lose heat
b-  Warms air to the body temperature and gains heat
c-  The body gains heat from air
d-  The air gain heat
17. The amplifiers used in recording ECG must be able to:
a-  Make interference voltage between ECG signal and external signal
b-  Eliminate interference from voltages induced in the body from external sources
c-  Amplify the signal from external sources only
d-  Record signals from ECG only
18. The unit of the ratio of two sounds intensities level is:
a- dB b-  Wim?
c- Gy d Ci
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19. The best description of an image of a body placed in front of a converging lens at
distance twice the focal length is:
a-  Real, inverted and same size b- Upright, smaller and real
c-  Larger, real and inverted d- Larger, imaginary and upright
20. Find the mass of 20 cm® of blood of density 1.06 g/m?® :
a- 53gm b- 21.2gm
c- 63.6gm d-  0.053gm
gl ple
21. The plane which divides the body or any of its parts into anterior and posterior
portions is :
a-  Frontal (coronal) plane
b-  Transverse (horizontal plane)
c-  Median (sagittal) plane
d-  Oblique plane
22. The parts which contain hyaline cartilage in their wall are except :
a-  Thyroid cartilage b-  Costal cartilages
c- Epiglottis d-  Articular cartilages
23. Mucous membrane form the inner lining of the following except:
a-  Uterus b-  Heart
c-  Stomach d-  Pharynx
24. The skin of the following areas contains numerous sweat glands except:
a-  Plams of hands b-  Soles of feet
c- Axillae d-  Abdomen
25. The neural arch of a typical vertebra consist of the following except :
a- 2 pedicles b- 2 transverse process
c- 2 laminae d- 2 articular surface
26. Which one of the followings is not considered as flat bone?
a- Ribs b- Sternum
c- Maxilla d- Cranium
27. The bones of lower limb are except :
a-  Carpal b-  Tibia
c- Femur d- Fibula
28. Shoulder joint is of a type:
a-  Synovial-hing b-  Synovial-ball and socket
c-  Synovial-gliding d-  Synovial-pivot
29. The following are muscles of upper limb except:
a-  Brachialis b-  Vastus medialis
c-  Flexor carpi redialis d- Pronator teres
30. The organs which associate heart from anterior aspect are except :
a-  Ribs b-  Sternum
c- Lungs d-  Costal cartilages
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31. Which one of the following parts is not a constitute of lymphatic system:

32.

33.

34.

35.

36.

a-  Thymus gland b- Lymphatic capillaries
c- Spleen d- Pancreas

The valve which prevents the backflow of blood from left ventricle into left
atrium is:

a-  Pulmonary valve b- Aortic valve

c-  Mitral valve d-  Tricuspid valve

The following arteries arise directly from arch of aorta except one :
a-  Brachiocephalic artery b- Left common carotid artery
c- Right subclavian artery d- Left subclavian artery
One of the following is not a part of the female reproductive system:
a-  Partholin glands b-  Vestibular glands

c-  Epididymis d-  Vagina

The parts of the nephron are except :

a-  Calyces b-  Glomerular capsule
c-  Loop of henle d-  Convoluted tubules

All of the following statements are correct about left main bronchus except:
a-  Narrower than right bronchus

b-  Have two branches inside left lung

c- Shorter than right bronchus have 3 cm long

d-  Enter left lung obliquely

37. Left lung consist of:
a-  Three lobes b-  Two lobes
c- Four lobes d- Five lobes
38. The longest part of the alimentary canal is:
a-  Esophagus b-  Small intestine
c- Large intestine d-  Stomach
39. The inferior part of the brain stem is:
a-  Midbrain b- Pons
c-  Medulla oblongata d-  Thalamus
40. The termination of the spinal cord is at the level of :
a-  Lower border of L; b- Lower border of L
c-  Lower border of Ly d- Lower border of Ls
slacy) ciilla g ale
41. In each cardiac cycle the complete cardiac diastole takes about:
a- 0.8 second b- 0.4 second
c- 0.3 second d- 0.1 second
42. The percentage of CO; in expired air is:
a- 0.04 b- 4
c- 16 d- 40
43. One of the following is not a normal constitute of feces:
a-  Water b- Inorganic salt & mucus
c- Blood d- Bacteria
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44. Which one of the following substances absorbed from the wall of small intestine by

45.

46.

47.

48.

49.

50.

51.

52.

53.

54.

55.

facilitated diffusion:

a-  Glucose b-  Water

c- Na' d- K’

The proliferative phase of the menstrual cycle in female takes about :
a- 4days b- 10 days

c- 14 days d- 28 days

The main functions of the skin include all of the following except :

a-  Motor response b-  Sensory perceptions

c-  Temperature regulation d- Protection

One of the following electrolytes considered as extracellular electrolytes:
a- CI b- K'

c-  Mg™ d-  HPO,?

HCL is one of the constitute of:

a- Bile b-  Gastric juice

c- Intestinal juice d-  Pancreatic juice
Adrenaline hormone secreted from:

a-  Thyroid b-  Adrenal cortex

c-  Hypothalamus d-  Adrenal medulla

The hormones which regulate blood calcium level are:

a-  Cortisol & corticosteron b-  ADH & Aldosterone
c-  Calcitonin & Parathormone d-  Adrenaline & noradrenaline .
The hormones which act on the wall of the uterus are except :

a-  Estrogen b- Progesteron

c-  Oxytocin d-  Cholecystokinin

Hemoglobin level in the male is about:
a-  13-18 gm/ 100 ml of blood
b-  16-18 gm/100 ml of blood
c- 11-16 gm/ 100 ml of blood
d-  10-14 gm/ 100 ml of blood

Each cubic millimeter (mm?®) of normal blood contains about ------------- leukocytes
(WBCs):

a- 5.000- 10.000 b-  200.000 - 350.000

c- 4.5-55million d-  7.000 - 14.000

The substance which pass from glomerulus to glomerular capsule of the nephron
by simple filtration are except:

a-  Mineral salts b- Urea &hormones

c- Plasma proteins d- Glucose

The important site for the reabsorption of water occur from the wall of :
a-  Proxomal convoluted tubules

b-  Major calyces

c- Loop of henle

d- Distal convoluted tubules & collecting duct
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56. Neurons that carry impulses from the central nervous system to the effectors

57.

58.

59.

(muscles , glands ) are called :

a-  Afferent b- Efferent

c-  Myelinated d- Inter (connector)
The action of parasympathetic nerves are except:

a-  Decrease the rate & force of heart beat

b-  Decrease secretions of gastric juice

c-  Constrictions the pupil of eye

d- Increase secretion of saliva

Which one of the following parts of the brain associated with equilibrium and
balance of the body?

a-  Cerebellum b-  Cerebrum
c-  Medulla oblongata d-  Spinal cord
The function of Lungs are except:

a-  Participate in the regulations of body temperature

b-  Participate in the regulations of acid-base balance

c-  Secretion of rennin

d-  Supply the body with oxygen and excretion of carbon dioxide

60. The aqueous fluid is secreted from:
a-  Ciliary body b-  Cornea
c- lris d-  Choroid
Ll claliaaal)

61.

62.

63.

What does coloscopy mean?

a-  Removal of the colon

b-  visual examination of the Colon
c-  X-ray picture of the colon

d-  Making an opening into the colon
What does Nephromegally mean?

a-  Enlargement of Renal pelvis

b

Enlargement of Kidney
c-  Enlargement of Urethra
d-  Enlargement of Bladder
Neuroma means tumor of the :

a- Head b Nerve

c-  Meninges d

Spinal cord
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64. What does “Anesthesia” mean?

65.

66.

67.

68.

69.

70.

71.

72.

73.

a-  Absence of sensation b-  Absence of sleep
c-  Absence of mens d-  Absence of lactation

Malacia is a word part “suffix” meaning softening of tissue. What does

Encephelomalcia mean?
a-  Softening of bone tissue
b-  Softening of muscle tissue

c-  Softening of brain tissue
d-  Softening of womb tissue
Osteopathy means disease of :

a- Joint b-  Cartilages

c- Bone d- Muscle
Thoracocentesis means tapping or puncture of the:

a-  Abdomen b-  Chest

c- Lung d- Heart

What do we call the specialist who treats women diseases?

a- A Cardiologist b- A dermatologist
c- A Nephrologist d- A gynecologist
Hidroadenitis is the inflammation of the:

a-  Thyroid gland b-  Sweat gland

c-  Parathgroid gland d- Pitutary gland

Pyloroscope is the instrument used for visual examination of the :
a-  Gatekeeper b- Duodenum

c-  Oesophagus d- Small intestine
What is the condition of slow heart beat called?

a-  Tachycardia b- Bradycardia

c- Cardiology d- Cardiograph
Algia is a suffix used for:

a-  Sensation b-  Pain

c- Movement d- Paralysis
Medically “white blood cell”, is expressed as :

a-  Leukocyte b- Erythrocyte

c-  Thrombocyte d- Phagocyte
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74. What does Otoplasty mean?
a-  Removal of the ear b-  Surgical repair of the ear
c-  Puncture of the ear d- Inflammation of the ear

75. Kinesiology is a term meaning:
a-  The study of motion b-  Study of the heart
c-  Study of blood d-  Study of nervous system

76. Hysteroscopy is a term meaning:
a-  Visual examination of the liver
b-  Visual examination of the colon
c-  Visual examination of the uterus
d-  Visual examination of the kidney
77. What does “Multipara” mean?
a- A woman who has born one child
b- A woman who has never born a child
c- A woman who has born many children
d- A woman who has never married

78. Paralysis of one side of the body is:

a- Hemiplegia b- Paraplegia

c- Paraparesis d- Paralysis
79. Carditis is a term meaning :

a-  Inflammation of the stomach b- Inflammation of the heart

c- Inflammation of the skin d- Inflammation of the duodenum
80. What does “Sclerectasis” mean?

a-  Inflammation of the sclera b- Dilatation of the sclera

c- Removal of the sclera d-  Surgical repair of the sclera
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